RESOLUTION OF THE WHITE MOUNTAIN APACHE TRIBE OF THE FORT APACHE INDIAN RESERVATION

- WHEREAS, the Tribal Council by previous Resolution No. 07-87-233 has approved the building of a new Education Center to serve the needs of the White Mountain Apache Tribe; and
- WHEREAS, the Director of the Education Department, Mr. Wesley Bonito, has advised the Tribal Council that there is a need to purchase new furniture in order to equip the building in a manner conducive to fulfilling its stated purpose, that of providing educational assistance to tribal members; and
- WHEREAS, Mr. Bonito has submitted an inventory list, a copy of which is attached hereto and incorporated herein by reference, showing the items which must be purchased and has listed a total price for each item, and is requesting that the Tribal Council appropriate \$10,000 from revenue sharing funds in order to purchase the necessary furniture and equipment; and
- WHEREAS, money is available in the revenue sharing account for such governmental purposes and the Tribal Council is of the opinion that the funds should be used for this purpose.
- BE IT RESOLVED by the Tribal Council of the White Mountain Apache Tribe that it hereby appropriates \$10,000 from the Tribal Revenue Sharing Account for the purchase of furniture and equipment for the new Tribal Education Building.
- BE IT FURTHER RESOLVED that Mr. Bonito is directed to follow through on the revenue sharing process which requires a series of public meetings, including this Council meeting, in order to finalize the appropriation of funds.

The foregoing resolution was on November 4, 1987, duly adopted by a vote of <u>ELEVEN</u> for and <u>ZERO</u> against by the Tribal Council of the White Mountain Apache Tribe, pursuant to authority vested in it by Article V, Section 1(a), (i) of the Amended Constitution and Bylaws of the Tribe, ratified by the Tribe June 27, 1958,

and approved by the Secretary of the Interior on May 29, 1958, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

Chairman of the Tribal Council

Secretary of the Tribal Council

FEB 25 1988

for Million Makes Agonty Whiteriver, Artzona



EDUCATION DEPARTMENT White Mountain Apache Tribe



P.O. Box 999 Whiteriver, Arizona 85941

Lloyd Susan, Treasury

Wesley Bonito, Director Jeele Tombo
October 23 1007

October 23, 1987 Date

Subject: Funds for Office Furniture - New Education Center

Listed below is cash/carry price of furnitures from Arizona Discount Desk Company of Phoenix, Arizona. We request favorable support from the Tribal Council by approving \$10,000.00 from the Revenue Sharing Funds.

FURNITURE AND EQUIPMENT FOR EDUCATION CENTER

Quantity	<u> Items</u>	Cost
71:	Executive Director Desk	350.00
1	Johnson O'Malley Director Desk	200.00
1	Higher Education Coordinator Desk	200.00
1	Employment Assistance Specialist Desk	200.00
1	Bilingual Education Program Director Desk	200.00
1	Education Secretary Desk	200.00
1	Johnson O'Malley Program Secretary Desk	200.00
1	Employment Assistance Counselor Desk	150.00
1	Curriculum Development Desk	150.00
1	Child Guidance Desk	150.00
1	Drafting Table/chair	350.00
8	Steno Chairs (8 @ \$95.00 each)	760.00
10	Floor Chairmats (10 @ \$18.00 each)	180.00
6	Folding Typewriter Table (6 @ \$20.00 each)	120.00
2	Executive Chairs (2 @ \$100.00 each)	200.00
8	Folding Table 4' X 8' (8 @ \$37.00 each)	296.00

Funds for Office Furniture - New Education Center (Continue)

Quantity		<u>Items</u>	·	Cost
75	Stack Chair	for Office/Conference Room	(75 @ \$18.00 each	1,350.00
8	4 Drawer Fil	e Cabinet (8 @ \$80.00 each)		640.00
2	Waiting Room	Lounge Chair (2 @ \$100.00	each)	200.00
1	Conference 1	able		250.00
mom . T				
TOTAL				\$6,346.00
TOUTDANS				
EQUIPMENT	•			•
Xerox Mach	ine			3,000.00
Computer M	achine/Hookup	•		2,000.00
Telephone	(800 number o	ost)		
TOTAL	·			\$11,346.00

We only show the cost of the furnitures that we need for the various rooms, but their are other in and outs that we still need that are not listed which the remaining of the \$10,000 will cover. Two major office equipment still needed are a copier machine and one new IBM Electro machine.

Let me know on this matter as the equipment needs to be purchase very soon before December 1, 1987. Timing is very important on moving in and dedication of the New Education Center.